3IRIAVS 9ISIP 3fo1ielTol Ud ufdrgtur ufyug, it
daIfticd udelr (2023-24)
Jiscl U2%I UsI(Model Question Paper)

DEII- 10 fererr- sifora HHA- 03 TeT YuTich- 80
Class-10 Subject- Mathematics Time — 03 Hr. Full Marks-80
AT fO1S9T:-
o U3lgrelf Femisid 3ot orscl 3 32 G
Candidates should answer in their own words as much as possible.
o J1sft usat siforart 3
All questions are compulsory.
o el UGl bl Ar 52 8l
Total number of questions is 52.
o U 1 A 30 AD TGADICURT U9t & | Ul Usel b R fddeu e s1e 3] 3138l faeu
oI aRIel DRI Ul Ul b fore 01 3ias forertfya 2
Question No. 01 to 30 are multiple choice questions, each question has four options. Select
the correct option. Each question carries 01 mark.
®  USGl AT 31 A 38 AAD 31feT oE] SR Ul 81 11191 A fepoat 6 Uil DI IR Joll
3MfoIarRl 81 U Ussl I Hlol 2 3 foreIifdd 3
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 02 marks.
®  USGl AT 39 A 46 AAD off I3 Ul 31 1191 A febodt 6 Uil I It Joll
3iforarRt 81 UIdb Ussl I Hlal 3 3id forerifya 2
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 03 marks.
o U%I AT 47 A 52 Sl It Ul 8 fbosl 4 Uil ol IR Soll Sforart 31 Ucdd
U1 T JTal 5 3icb foreriftya 2
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4
questions. Each question carries 05Smarks.
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1. 156 DI SIS SUIGRAAS] & IUIeIWel P 1Y 3 ferar SIf ADAr 3 :

()2 X3X7X11 (b)2 X2X3X13
(©)2X2X11X13 ()2 X2X3X7x13
The prime factorisation of 156 is written in the form of :

()2 X3X7X11 (b)2 X2X3X13
()2 X2X11X13 (d)2 X2X3X7x13

2. 6/15 DI GrHCId UATR DA 37

(a) Ald (b) 3RAIA 3l
(¢ ) 3IAIA 3olacit (d) SoIdi 2 DIs oIal
How is the decimal expansion of 6/15 .
(a) Terminating (b) Non-terminating recurring
(c) Non-terminating non-recurring (d) None of the above

3. [t a8ug p(x) D fe1e onw 3cpie] 3 &1 SRI 8 | d8Ue B 9loRID] bl A1 fo1eol A

A gﬁ‘iz-
(a)3 (b) 4 (c) 1 (d)5

) 2

The graph of a polynomial p(x) is given in the figure. Choose the number of zeroes of the

polynomial p(x) from the following :-

v

()3 (b) 4 (©)1 (d)3

4. fgaraEgus x* -7 x + 12 & oAl I Al foFot 31 3 o :

(a) 6 (b)7 (c) -7 (d)12
Choose the sum of zeroes of the polynomial x*-7x+12 from the following:-
(a) 6 (b)7 (c) -7 (d)12
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5. ao Ao Yea a,x + byy + ¢y = 0@ a,x+ by y + ¢, =0 DI DIS Bl
oldl g,

af
4o by oa “o, h_a
(a) a o bz #: Cy (b) a * b2 (o)
@ - bh_a Gy hya
(C) an _ b2 _ (o) (d) an * bz i (09

The pair of linear equations a,x+b,x+c,=0 and a,x+b,y+c,=0 will have no solution

ifi-
0%=ne s v+ B= s
Sl Ot RS
6. WMo x —y+ 9=03MR3x —2 y + 12 = 0 P gRI forefua 3ars:
(a) Uil & (b) AHITR 3. (c) ufereesdl & (d) cIFIaAA 3
The graphical representation of linear equations x-y+9=0 and 3x-2y+12=0 is :-
(a) coincident (b) parallel. (c) intersecting (d) perpendicular.
7. AHIDVIYEA 2x +y=63R 5x —y = 1 PIacia:
(a) x=4, y=3. (b) x=1, y=4. (c) x=4, y=1 (d) x=-1, y=8
The solution of the pair of linear equations 2x+y=6 and 5x-y=1 is:-
(a) x=4, y=3. (b) x=1, y=4. (c) x=4, y=1 (d) x=-1, y=8
9. forvolicTRad i A dlal G AHid01 &2
(a) (x-3)’ =x"-7x +5 (b) (x+1)’ =x* -5x+7
(c) (x+1)’ =2(x-3) (d) X’ +4x +1 = (x+3)’
Which of the following is a quadratic equation?
(a) (x-3)° =x" -7x +5 (b) (x+1)’ =x* -5x+7
(c) (x+1)’ =2(x-3) (d) X’ +4x +1 = (x+3)’
10. fgama el x* + 7x +6 = 0 & Al D Pl 3 :
(a) AIFATAD oIl AHTol (b)dIFAfdD eIl 3R1HATe
(c) JHATSL (d) AI¥AfAD olak
The nature of roots of the quadratic equation x’+7x+6=0 is:
(a) Real and equal (b) Real and distinct
(c) Equal (d) Not real
11. afe fgard Aefiador x° -4 x + k =0 DI IIcT AI6l 81, Al k DI Jlo] BIOT:
(a) 3 (b) 3 (c)4 (d) o191 A DI olal
If the roots of the quadratic equation x*-4x+k=0 are equal ,then the value of k will be :
(a)3 (b)3 (c)4 (d) None of the above
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12. AP.:24,21,18,... ®IAM A3 :

(a) 3 (b) -4 (¢)5 (d)-3
The common difference of the A.P. : 24,21,18... is.
(a) 3 (b) -4 (¢)5 (d)-3
13. AP.:2,7,12,... @I 10di UG 3:
(a) 245 (b) 47 (c) 52 (d) 57
10" term of the A.P. : 2,7,12... is:
(a)245 (b) 47 (c) 52 (d) 57
14. AR BI9LSl D B DIV ... BIAd|
(a) T (b) JATolulcil (c) AT (d) cIFdad

Corresponding angles of similar triangles are:-
(a)Equal (b) proportional(c) parallel (d) perpendicular
15. AABC 3 af& DE|BC 8 @Il BD =7.2 cm , AE =1.8 cm 3% EC =5.4 ¢cm 8l dl AD @I ol
ORI BI91II?

(a) 21.6 cm (b)2.6 cm (c)2.4cm (d)3.6 cm
In AABC if DE|BC and BD=7.2¢cm, AE=1.8cm and EC=5.4cm, then what will be the
value of AD?

(a)21.6 cm (b)2.6 cm A (¢)2.4cm (d)3.6 cm

A,
JVARN

16. AABCJ, AB=6V3 cm, AC =12 cm 312 BC =6 cm @I, Al DIV B 3:

(a)120° (b) 60° (c) 90° (d) 45°

In AABC, AB=6\/3cm,AC=12 cm and BC=6 cm, then value of ZB is :

(a)120° (b) 60° (c) 90° (d) 45°
17. fdgaii (2,3) 3R (4,1) D dladbigi 8

(a) V6 ADID (b) 42 ABID (c) 3\2 APID (d) 22 APID

The distance between the points (2,3) and (4,1) is :

(2) V6 units (b ) 4\2 units (c) 3V2 units (d) 22 units
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18. fdogail (2,5) el (4,7) @) BiciIol dIc 3ARAS DI 1 fdog &:

(a) (1, 2) (b) (5/2,772)  (c)(3,6) (d) (6,12)
The coordinates of the mid-point of the line segment joining the points (2,5) and (4,7) is :
(a) (1, 2) (b) (5/2,772)  (c)(3,6) (d) (6,12)
19. =l A(0,0), B(5,0), C(0,6) B, cl AABC I §I>1tc] Blol :
(a) 30 GOI ABID  (b) 15 Tof AGID (c) 60 Tof AGID (d) Soldi A DIS olal
If A(0,0) B(5,0),C(0,6) ,then the area of the AABC will be :
(a) 30 sq. units (b) 15 sq units.
(¢) 60 sq. units (d) None of the above

20. 2uAfS sinA=% 31, dl tanA I Hlol BIoM:
4 N 3 ot
(a2 ®)7. © @

3
If sinA=§, then value of tanA will be :

4 5 3 4
() (b) 7. ©7 3
21. Al 2sin’A=13l, Al £A DI Hlol BlI :
(a)30° (b) 45° (c)0° (d) 90°
If 2 sin’A=1, then the value of ZA will be :
(2)30° (b) 45° () 0° (d) 90°
22. cos 48° - sin 42° DI HIol BISI:
(a) cos6° (b)0 (c)1 (d) sin6°
Value of cos 48°- sin 42° will be :
(a) cos6° (b)0 (©)1 (d) sin6°

23. 91fd1 b uep fdig A, S otz &b urs- fdig A 30 m bl g3t uz &, #totrz & féraaez @
3ooRIol DIUT 30° 8, dl ol bt SHars &:
(a) 30 m () 15V3m  (c) 10V3m (d) 20\3 m
From a point on the ground, which is 30m away from the foot of a tower,the angle of

elevation of the top of the tower is 30° ,the height of the tower is :

(a) 30 m (b)15\3m  (c) 10¥3 m (d)20V3 m
24. D qrl bl fbeoft Fusl 3ard 8l Al 8 2
(a)0D (b) Gl (c) 3Toid (d) 30191 A DIS olat
How many tangents can a circle have?
(a) One (b) Two
(c) Infinite (d) None of the above
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25. AfS TP, TQ g O arel fop=it arl U= &1 Fuel 32ard s UdR & fdb £ POQ = 110°, Al
£ PTQ TWIER 3:
(a)60° (b) 70° (c) 80° (d) 90°

If TP, TQ are two tangents to a circle with centre O such that ZPOQ = 110°, then
ZPTQ isequal to:
(a)60° (b) 70° (c) 80° (d) 90°
26. ¥l U qr1 DI URAN 3iR EHIWel IRANHAD U A TRIER 8, Al 3 gl Dl B &:

(a) 2 AGID (b) T ABID (c) 4 AGID (d)) 7 AGID

If the perimeter and area of a circle are numerically equal, then the radius of that

circle is:

(a) 2 units (b) T units (c) 4 units (d)) 7 units
27. U AISI 7 i cid 32 3 0 AT B ATl 91 &I 3 | 33 91161 DI STl I=IT BISI
OI131 €lST IRt TR ADA 3 2

(a) 154 m? (b) 54 m? (c) 154/7 m? (d) 49 m?

A horse is tied to a grass field witha 7 m long rope. What will be the area of the

part in which the horse can graze grass?

(a) 154 m? (b) 54 m? (c) 154/7 m? (d) 49 m?.
28. AR TS di3 Dl ¢S dArse] il BD 12 m T, 9 m dls doll § m Hd DL i 3%l ST
ADAI Bl?
(a) 12 4. (b) 17 4. (c) 21 4t (d) 19 4.
What is the length of the largest bamboo that can be placed in a room 12 m long, 9 m
wide and 8 m high?
(a) 12 9. (b) 17 4it. (c) 21 4. (d) 19 4.
29. Ica-gol i1 ud Rl IRdRA & dia Hdid sR sicRa @I ................ DBA S |
(a) ¥ DIH UDIR' DI dIZUT (b) '3 3D YD DI ARV
(c) a eI b Sloil (d) oTa1 A DIS olat
The graph drawn between upper-class limit and cumulative frequency is known as:
a) 'less than ' ogive (b) 'more than ' ogive
(c) aand b both (d) None of the above
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30 fotgotfe1Rac 31 A Dot 2t = fabdt acotr bt wiRradr o1dl 8 Al 2

2
@7 (b) 1.5 () 15% (d)0.72
Which of the following cannot be the probability of an event?
2
@7 (b) 1.5 () 15% (d)0.72
foraot 31 A1 fobadl 6 Uil &b 3R difstu : (6x2=12)
(Answer any 6 of these questions.) (6x2=12)
31, IS SUIoRAS fAfel GIRT 96 3112 404 I HCF 311 LCM SiId HifS1u |

Find the HCF and LCM of 96 and 404 by prime factorisation method.
32. g8 [GUId a8uG SId DIfSTe f3R1 I[eIbI I AlST Tell S[UIeIwel OAII: -3 322 & |
Find a quadratic polynomial, the sum and product of whose zeroes are -3 and 2,

respectively.

33. dlol clifSle A ABC ~ A DEF 3 31iR $01db 8151l hd9l: 64 cm’ 3113 121 cm’ 8 | fS
EF=15.4cm &I, dl BC SIId $ifolu |
Let A ABC ~ A DEF and their areas be respectively, 64 cm” and 121 cm”. If
EF=15.4cm, find BC.
34, x-3181 U2 & fdog siI bifste Sil fdgal 2, -5) 8l (-2, 9) A WG 8l
Find the point on the x- axis which is equidistant from the points (2,-5) and (-2,9).
35. HIol foIDIfcTe:  2tan’45° + sin’45° - cos’45°
Evaluate: 2tan’45° + sin’45° - cos'45°
36. U [dog A 3, qr1 &I Tuel 221 &l c1odrs 4om 8 312 A Bl Pog A G35 A 8, Al aa
&I Broe. s11d difoio |
The length of tangent from a point A at distance 5 cm from the centre of the circle is 4
cm. Find the radius of the circle.
37. QD eI & acgelier o 1w Siid bifste, fSrrdl uf3fer 22 cm 3l

Find the area of a quadrant of a circle whose circumference is 22 cm.

38. U URI Pl U dIR babl SIIdl 3 | forFaifcii3ad ol urd dbol bl uifRradr sird Hifore
(i) OD SIS AL (ii) U fAua I
A die is thrown once. Find the probability of getting:

(i) a prime number. (i1) an odd number.
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foraat 91 A fbodl 6 Uil & IR difru - (3%6=18)
(Answer any 6 of these questions.) (3%x6=18)
39.  Big DIfe b 3+4V5 o USRI A= S |

Prove that 3+4\/ 5 is an irrational number.

40. AHDIVIISA x - y+1= 0 3R 3x+2y-12=0 DI DI faifer A st HISIE |
Solve graphically: x - y+1= 0 and 3x+2y-12=0.

41. fdpft A.p. oI 17di UG 33D 10d UG A 7 31feIb 3 | 33bI AId 3I6A2 S DIfIU |
The 17th term of an A.P. exceeds its 10th term by 7. Find the common difference.

42 8 3lofurd I HIfSte, 5119 fdigail A(1,-5) 3l B (-4,5) I f3cTIol arelr 33ads x-
3181 A fenfora s 3 |
Find the ratio in which line segment joining A(1,-5) and B (-4,5) is divided by x-axis.

43. f&6gail A (-5,-1), B(3,-5) 3R C (5,2) A Sofol dict BI3fsI I gi>1wel I Hifse|
Find the area of the triangle formed by the points A (-5,-1), B(3,-5) and C (5,2).

1+sin A

44, Brg difSto : = sec A+tan A
1+sin A
Prove that : Sl,n =secA+tan A
1-sin A

45, Scm Brsar o1 v qut e | g 3 8em G2 ferd v feig 3 g1 uz Juel a1 Joa
bl Idol bifoTu |
Draw a circle of radius Scm. From a point 8 cm away from its centre, construct a pair of

tangents to the circle.

46.  3TIPIer I, Tgeior OPBQ b 3iIeld Ud dsf OABC Wofl B3I 8 | Al OA =20 cm 3, Al

BRI 81181 DI ST ST DIfSI] (T = 3.14 I URIeI HIfSTe)
In figure, a square OABC is inscribed in a quadrant OPBQ. If OA=20 cm, find the area

of the shaded region. (Use 1T = 3.14).
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&5 /
///
O A P
foraot 3 A fbadl 4 UGl &b 3= difotu : (5%4=20)

(Answer any 4 of these questions.)

47.  fgara efiour 2x°-7x +3=0 @I fAfdepd2 , a1cit b uopiet e fgardt 251 o1 u=ist
2 T S DI |
Find out discriminant, nature of roots and roots using quadratic formula of the

quadratic equation 2x” -7x+ 3=0.

48.  Rig difcre &b Afe; fopil Brafst bl v 916l & AR 316 Gl SII3Hl DI frool-f9teot
fdigail uz ufcredds 2ol arcil 321 368 Aol 3iofulrd I fasnfSia dadl 21
Prove that, it a line drawn parallel to one side of a triangle and intersect other two

sides in distinct points, the other two sides are divided in the same ratio.

49.  dfiolz & 3R A 31T T AT A 3 4m 3R 9Im bt g3 uz Rera at fdgail 2 siomz

@ IR P IooRIol DIVI UZD DIVT 31 R DIfSTe b aiorz b S5ars 6m & |

The angles of elevation of the top of a tower from two points at a distance of 4 m and 9

m from the base of the tower and in the same straight line with it are complementary.

Prove that the height of the tower is 6 m.

50. ©D ORI U 3ielollel U2 IS UD 9P D DR PI 3 fforhbl BIRIE 1em & del 9ip bt Sxars
331b! BRI & 163 31 33 SR D RIS 7T b UGk 3 ST HifS1o)

A solid is in the shape of a cone standing on a hemisphere whose radii are 1cm and the

height of the cone is equal to its radius. Find the volume of this solid in terms of 7.

51.  &rq &l arG2 A ol 3R HUR A Il BD clol 9P D UD [Bo0ld P IMIDR DI &,
fOR1chI a8 16 cm 3 a2 foraet 3z 33Ut BRI ol BreIs aor: 8 cm 312 20 cm 81 2 20
ufct cfic &I 62 31 321 Scfol DI Y1 812 Aol dIcT GEI DI A Siid HifSe]

A container, opened from the top and made up of a metal sheet, is in the form of a

frustum of a cone of height 16 cm with radii of its lower and upper ends as 8 cm and 20
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cm, respectively. Find the cost of the milk which can completely fill the container, at the

rate of Rs 20 per litre.
52. forol Siidsl A dgerd SiId bifsre :

dol 3l6aRIcl | 10-20 20-30 30-40 40-50 50-60

TR—ARAT 6 8 15 9 8

Find the Mode of following data:

Class Interval | 10-20 20-30 30-40 40-50 50-60
Frequency 6 8 15 9 8
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SIR¥AVS IIfSID 3rofieinel ud ufdrgrur ufyvg, il

aifiticp aAre=afdre ullen
(2023- 2024)
3R PiSIbT
uferc ol Ut usl (a<1forso)
Answer Key of Model Question Paper (Objective)
FETT-10 Y- MATHEMATICS
U1 AT IR %1 AR IR

1 b 16. d
2 a 17. [

3 b 18. b
4. b 19. ¢
5. ¢ 20. b
6. [ 21. b
7. b 22. [

8 ¢ 23. ¢

9 b 24. b
10. C 25. a
11. d 26. a
12. b 27. b
13. a 28. a
14. [ 29. b
15. ¢ 30. b
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